
who_man <= 0.5
gini = 0.438

samples = 182
value = [59, 123]

class = u

fare <= 10.481
gini = 0.118
samples = 95

value = [6, 89]
class = u

True
age <= 43.0
gini = 0.476
samples = 87

value = [53, 34]
class = s

False

gini = 0.0
samples = 2

value = [2, 0]
class = s

fare <= 11.488
gini = 0.082
samples = 93

value = [4, 89]
class = u

age <= 45.5
gini = 0.375
samples = 4

value = [1, 3]
class = u

age <= 2.5
gini = 0.065
samples = 89

value = [3, 86]
class = u

gini = 0.0
samples = 3

value = [0, 3]
class = u

gini = 0.0
samples = 1

value = [1, 0]
class = s

sex_female <= 0.5
gini = 0.375
samples = 4

value = [1, 3]
class = u

age <= 49.5
gini = 0.046
samples = 85

value = [2, 83]
class = u

gini = 0.0
samples = 3

value = [0, 3]
class = u

gini = 0.0
samples = 1

value = [1, 0]
class = s

fare <= 143.592
gini = 0.027
samples = 72

value = [1, 71]
class = u

fare <= 40.096
gini = 0.142
samples = 13

value = [1, 12]
class = u

gini = 0.0
samples = 60

value = [0, 60]
class = u

fare <= 152.506
gini = 0.153
samples = 12

value = [1, 11]
class = u

gini = 0.0
samples = 1

value = [1, 0]
class = s

gini = 0.0
samples = 11

value = [0, 11]
class = u

fare <= 27.631
gini = 0.5

samples = 2
value = [1, 1]

class = s

gini = 0.0
samples = 11

value = [0, 11]
class = u

gini = 0.0
samples = 1

value = [0, 1]
class = u

gini = 0.0
samples = 1

value = [1, 0]
class = s

fare <= 7.85
gini = 0.5

samples = 49
value = [25, 24]

class = s

age <= 47.5
gini = 0.388
samples = 38

value = [28, 10]
class = s

gini = 0.0
samples = 6

value = [6, 0]
class = s

age <= 24.5
gini = 0.493
samples = 43

value = [19, 24]
class = u

age <= 17.5
gini = 0.375
samples = 8

value = [6, 2]
class = s

age <= 28.5
gini = 0.467
samples = 35

value = [13, 22]
class = u

gini = 0.0
samples = 1

value = [0, 1]
class = u

fare <= 70.323
gini = 0.245
samples = 7

value = [6, 1]
class = s

age <= 21.0
gini = 0.5

samples = 2
value = [1, 1]

class = s

gini = 0.0
samples = 5

value = [5, 0]
class = s

gini = 0.0
samples = 1

value = [1, 0]
class = s

gini = 0.0
samples = 1

value = [0, 1]
class = u

fare <= 151.29
gini = 0.219
samples = 8

value = [1, 7]
class = u

age <= 31.5
gini = 0.494
samples = 27

value = [12, 15]
class = u

gini = 0.0
samples = 7

value = [0, 7]
class = u

gini = 0.0
samples = 1

value = [1, 0]
class = s

fare <= 54.5
gini = 0.278
samples = 6

value = [5, 1]
class = s

age <= 35.5
gini = 0.444
samples = 21

value = [7, 14]
class = u

gini = 0.0
samples = 4

value = [4, 0]
class = s

age <= 30.0
gini = 0.5

samples = 2
value = [1, 1]

class = s

gini = 0.0
samples = 1

value = [1, 0]
class = s

gini = 0.0
samples = 1

value = [0, 1]
class = u

gini = 0.0
samples = 5

value = [0, 5]
class = u

class_Second <= 0.5
gini = 0.492
samples = 16
value = [7, 9]

class = u

age <= 39.0
gini = 0.459
samples = 14
value = [5, 9]

class = u

gini = 0.0
samples = 2

value = [2, 0]
class = s

fare <= 28.044
gini = 0.496
samples = 11
value = [5, 6]

class = u

gini = 0.0
samples = 3

value = [0, 3]
class = u

gini = 0.0
samples = 2

value = [0, 2]
class = u

fare <= 84.425
gini = 0.494
samples = 9

value = [5, 4]
class = s

parch <= 0.5
gini = 0.32
samples = 5

value = [4, 1]
class = s

sibsp <= 0.5
gini = 0.375
samples = 4

value = [1, 3]
class = u

gini = 0.0
samples = 3

value = [3, 0]
class = s

embarked_C <= 0.5
gini = 0.5

samples = 2
value = [1, 1]

class = s

gini = 0.0
samples = 1

value = [0, 1]
class = u

gini = 0.0
samples = 1

value = [1, 0]
class = s

age <= 37.0
gini = 0.5

samples = 2
value = [1, 1]

class = s

gini = 0.0
samples = 2

value = [0, 2]
class = u

gini = 0.0
samples = 1

value = [0, 1]
class = u

gini = 0.0
samples = 1

value = [1, 0]
class = s

gini = 0.0
samples = 10

value = [10, 0]
class = s

age <= 49.5
gini = 0.459
samples = 28

value = [18, 10]
class = s

parch <= 0.5
gini = 0.278
samples = 6

value = [1, 5]
class = u

age <= 75.5
gini = 0.351
samples = 22

value = [17, 5]
class = s

gini = 0.0
samples = 5

value = [0, 5]
class = u

gini = 0.0
samples = 1

value = [1, 0]
class = s

age <= 60.5
gini = 0.308
samples = 21

value = [17, 4]
class = s

gini = 0.0
samples = 1

value = [0, 1]
class = u

fare <= 28.125
gini = 0.426
samples = 13
value = [9, 4]

class = s

gini = 0.0
samples = 8

value = [8, 0]
class = s

gini = 0.0
samples = 1

value = [0, 1]
class = u

age <= 59.0
gini = 0.375
samples = 12
value = [9, 3]

class = s

fare <= 43.681
gini = 0.298
samples = 11
value = [9, 2]

class = s

gini = 0.0
samples = 1

value = [0, 1]
class = u

fare <= 33.098
gini = 0.48
samples = 5

value = [3, 2]
class = s

gini = 0.0
samples = 6

value = [6, 0]
class = s

age <= 53.5
gini = 0.375
samples = 4

value = [3, 1]
class = s

gini = 0.0
samples = 1

value = [0, 1]
class = u

gini = 0.0
samples = 1

value = [0, 1]
class = u

gini = 0.0
samples = 3

value = [3, 0]
class = s


